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Year 10 into 11 Chemistry Bridging Work

Congratulations on completing Year 10 and entering the final stage of your chemistry journey! This
bridging work will help you review and reinforce key ideas from Year 10, ensuring a supported
transition into Year 11.

There are three sections to this booklet. These are:

1. Reviews of each Required Practical you have covered so far in chemistry with an opportunity
to review different aspects of individual practical work;

2. Exam Question Practice —get into the mindset of an examiner! Practice some commonly tested
exam questions in chemistry with top tips from our exam board, AQA.

3. Autumn Term Preparation

Together with this, there will be links to useful videos that directly link to the module/topic in case you
need further support. Please also use your CGP and Kerboodle textbooks to support with your revision.
Recommended Websites:

e Savemyexams

e BBC Bitesize

e AHammondBiology
e Thesciencehive

This is the first piece of work you will be assessed in September and will set the tone for the rest of the
academic year. It's an opportunity for you to showcase your knowledge, skills, and growth since Year
10. Work hard, stay focused, and demonstrate what you are capable of achieving.
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Section 1: Required Practicals
Recommended Videos (remember reactants / reagents can vary and will not always be the same!):

1. Preparation of a pure, dry salt
a. Making Salts - GCSE Science Required Practical
b. GCSE Chemistry - Neutralisation Reactions
2. Electrolysis
a. Electrolysis - GCSE Science Required Practical
b. GCSE Chemistry - Electrolysis Part 3 - Aqueous Solutions
3. Temperature Changes
a. Temperature Changes - GCSE Science Required Practical
b. AQA GCSE Science Revision Chemistry "Required Practical 4: Temperature Changes
4. Rates of Reaction
a. Rates Of Reaction - GCSE Science Required Practical
b. Rates Of Reaction 2 (Collecting Gas) - GCSE Science Required Practical

For any practical activity can students answer these 10 questions?

-

What is the dependent variable and the independent variable?

Therefore, what other factors could affect the results and need to be
controlled (control variables)?

N

What will | measure or record?

What would an appropriate experimental control be?

How could | improve the accuracy of my experiment/investigation?
How could | improve the precision of my experiment/investigation?
How could | improve the validity of my experiment/investigation?

What else could | do with this experiment? What could | change to
investigate something else?

9. What is my greatest source error?

0N O O & W

10. What pattern or trend do my results show and how do | explain this?

Please note because not all investigations have all these characteristics,
not all of these questions can be answered for all Required Practicals.


https://www.youtube.com/watch?v=qIOMlwBoe_4&pp=ygUVY29nbml0byBtYWtpbmcgYSBzYWx0
https://www.youtube.com/watch?v=lBjwMcHUyBY
https://www.youtube.com/watch?v=tCHE_7QeRUc
https://www.youtube.com/watch?v=GrgYXk_NCec
https://www.youtube.com/watch?v=tKxcQYZ2YH8
https://www.youtube.com/watch?v=rdI7xEq4Ew8
https://www.youtube.com/watch?v=Gl6LVl7oAlU&pp=ygUYbWFsbWVzYnVyeSBzY2llbmNlIHJhdGVz
https://www.youtube.com/watch?v=ssa3wh3RNt0
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Section 2: Exam Question Practice

Recommended Video: GCSE Chemistry - Allotropes of Carbon - Diamond and Graphite

Explain why graphite conducts electricity.

Answer in terms of the structure and bonding in graphite.

(3)

Describe the structure and bonding of diamond.
[3 marks]

Explain why diamond has a very high melting point.
[3 marks]



https://www.youtube.com/watch?v=tGH0mXCcEFU
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Recommended Videos: Making Salts - GCSE Science Required Practical GCSE Chemistry -
Neutralisation Reactions

This question is about zinc and compounds of zinc.

A student produces pure crystals of zinc chloride by reacting zinc oxide with
hydrochloric acid.

The equation for the reaction is:

ZnO(s) + 2HCl(ag) — ZnCly(aqg) + HO(l)

The student adds zinc oxide to hydrochloric acid until the zinc oxide is in excess.

Give one observation that the student could make to show that the zinc oxide is
in excess.

[1 mark]

Why is excess zinc oxide used rather than excess hydrochloric acid?
[1 mark]

Name one other compound that the student could add to hydrochloric acid to produce
zinc chloride.

[1 mark]

Describe how the student should obtain crystals of zinc chloride from a solution of
zinc chloride.

[2 marks]



https://www.youtube.com/watch?v=qIOMlwBoe_4&pp=ygUVY29nbml0byBtYWtpbmcgYSBzYWx0
https://www.youtube.com/watch?v=lBjwMcHUyBY
https://www.youtube.com/watch?v=lBjwMcHUyBY
https://www.youtube.com/watch?v=2i5Lm7BMtpo
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A student is given three metals, X, Y and Z to identify.

The metals are magnesium, iron and copper.

Plan an investigation to identify the three metals by comparing their reactions with
dilute hydrochloric acid.

Your plan should give valid results.
[4 marks]
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Recommended Video: GCSE Chemistry - Global Warming & Climate Change

Carbon dioxide is a greenhouse gas.

Describe the greenhouse effect in terms of the interaction of short and long wavelength
radiation with matter.

(4)


https://www.youtube.com/watch?v=Z_b2A-d5hGY
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Section 3: Autumn Term Preparation

You will have a baseline exam in September. Please use your Year 10 mock QLA as well as this work to
support with you prioritising and focusing your revision so you continue to make progress.

You first topic coming back in will be:

e Equilibria
Please read ahead on this topic and bring in any revision to your first lesson to show to your teacher.
Go Further Research Task

How was chemistry used to discover that this painting bought for £800 was an authentic Degas painting
(worth £800,000!)?

Degas: “The Little Dancer”
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